
S0(1) R0(1) Richiesta(<Master_00>)
|Master_00|=3 

S0(1) R0(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_input(<Master_00>)
|Master_01|=2 |Master_00|=1 

T1>

R0(1) S1_a(<Master_01>) S1_b(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_01|=1 |Master_00|=2 

T3>

S0(1) R_1(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_01|=1 |Master_00|=2 

T9>

S0(1) R0(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1>

R0(1) S1_b(<Master_01>) S2_a(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_00|=2 |Master_01|=1 

T4>

R0(1) S1_a(<Master_01>) S2_b(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_00|=2 |Master_01|=1 

T5>

R0(1) S1_a(<Master_02>) S1_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T1>

S0(1) R_2(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_00|=2 |Master_01|=1 

T8>

S0(1) R_1(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T1> T3>T9>

S0(1) R0(1) Attesa(<Master_00>) Buffer_input(<Master_00>)
|Master_00|=3 

T1>

R0(1) S1_b(<Master_02>) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T1>

R0(1) S2_b(<Master_01>) S2_a(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_00|=2 |Master_01|=1 

T5>T4>

R0(1) S1_a(<Master_02>) S2_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T1> T4>T5>

S1_a(<Master_02>) S1_b(<Master_02>) R_1(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T9>

R0(1) S1_a(<Master_01>) S1_b(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1>

S0(1) R3(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_output(<Master_00>)
|Master_01|=2 |Master_00|=1 

T7> S0(1) R_2(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T1> T3>T8>

S0(1) R_1(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1> T3>T9>

S1_b(<Master_02>) R_1(<Master_01>) S2_a(<Master_02>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T9>

R0(1) S2_b(<Master_02>) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T5>

R0(1) S1_b(<Master_01>) S2_a(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1> T1>

R0(1) S3(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_output(<Master_00>)
|Master_01|=2 |Master_00|=1 

T6>T4>

S1_a(<Master_02>) R_1(<Master_01>) S2_b(<Master_02>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T9>

R0(1) S1_a(<Master_01>) S2_b(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1>T4>T5>

S1_a(<Master_02>) S1_b(<Master_02>) R_2(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T8>

S1_a(<Master_02>) S1_b(<Master_02>) R_1(<Master_01>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1> T4>T5>T9>

S0(1) R0(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=2 

Reset_r

S0(1) R3(1) Richiesta(<Master_01>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=2 

T2>

S0(1) R3(1) Richiesta(<Master_02>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T1>

T3>

T7> S0(1) R_2(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1> T3>T8>

S1_b(<Master_02>) R_2(<Master_01>) S2_a(<Master_02>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T8>

S1_b(<Master_02>) R_1(<Master_01>) S2_a(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

R_1(<Master_02>) S2_b(<Master_01>) S2_a(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T5> T9>

R0(1) S3(1) Richiesta(<Master_02>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_02|=1 |Master_00|=1 |Master_01|=1 

T6>

R0(1) S2_b(<Master_01>) S2_a(<Master_01>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_00>)
|Master_00|=2 |Master_01|=1 

T1>T9> T5> Reset_s T1>

R0(1) S3(1) Richiesta(<Master_01>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=2 

T2>T4>

S1_a(<Master_02>) R_2(<Master_01>) S2_b(<Master_02>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T8>

S1_a(<Master_02>) R_1(<Master_01>) S2_b(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1> T4>T9>T4>T5>

S1_a(<Master_02>) S1_b(<Master_02>) R3(1) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T7> S1_a(<Master_02>) S1_b(<Master_02>) R_2(<Master_01>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1> T4>T5>T8>

S0(1) R0(1) Richiesta(<Master_02>) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T1>

S0(1) R0(1) Richiesta(<Master_01>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=2 

T2>Reset_r

S0(1) R3(1) Richiesta(<Master_00>)
|Master_00|=3 

T0>

S0(1) R3(1) Richiesta(<Master_02>) Attesa(<Master_01>) Elabora(<Master_00>) Buffer_input(<Master_01>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T1> T3> Reset_rT2>

S0(1) R3(1) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=2 

T1>

T3>

T7>

S1_b(<Master_02>) R3(1) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T7> R_2(<Master_02>) S2_b(<Master_01>) S2_a(<Master_01>) Richiesta(<Master_00>) Attesa(<Master_01>+<Master_02>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T5>

S1_b(<Master_02>) R_2(<Master_01>) S2_a(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1> T8>

R_1(<Master_02>) S2_b(<Master_01>) S2_a(<Master_01>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T5>T8> T1>

R_1(<Master_02>) S3(1) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T6> Reset_s T9>

R0(1) S3(1) Richiesta(<Master_02>) Attesa(<Master_01>) Elabora(<Master_00>) Buffer_input(<Master_01>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>

R0(1) S3(1) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=2 

T1>T9> T6> Reset_s T1>

R0(1) S3(1) Richiesta(<Master_00>)
|Master_00|=3 

T0>T4>

S1_a(<Master_02>) R3(1) S2_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T7> S1_a(<Master_02>) R_2(<Master_01>) S2_b(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1> T4>T8>

T4>T5>

R0(1) S1_a(<Master_02>) S1_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

Reset_r

S1_a(<Master_02>) S1_b(<Master_02>) R3(1) Richiesta(<Master_01>) Attesa(<Master_02>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>

S1_a(<Master_02>) S1_b(<Master_02>) R3(1) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

T4>T5>

T7>

T3>

S0(1) R_1(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_02|=1 |Master_01|=1 

T9>

S0(1) R0(1) Richiesta(<Master_02>) Attesa(<Master_01>) Elabora(<Master_00>) Buffer_input(<Master_01>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>

S0(1) R0(1) Attesa(<Master_00>+<Master_01>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=2 

T1>

T0>

T1>

Reset_r

S0(1) R3(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_input(<Master_00>)
|Master_01|=2 |Master_00|=1 

T1> T3> Reset_rT0>

S0(1) R3(1) Attesa(<Master_01>) Elabora(<Master_00>) Buffer_input(<Master_01>)
|Master_00|=1 |Master_01|=2 

T1> T3> Reset_rT2>

R0(1) S1_b(<Master_02>) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

Reset_r

S1_b(<Master_02>) R3(1) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_02>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>

S1_b(<Master_02>) R3(1) S2_a(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

R3(1) S2_b(<Master_02>) S2_a(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T5>

T7> R_2(<Master_02>) S3(1) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T6>

R_2(<Master_02>) S2_b(<Master_01>) S2_a(<Master_01>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

T7>

T5> T8>

R_1(<Master_02>) S3(1) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_01|=1 |Master_00|=1 |Master_02|=1 

T6> Reset_sT8> T1>

R_1(<Master_02>) S3(1) Richiesta(<Master_01>) Attesa(<Master_02>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2> Reset_s T9>

R0(1) S3(1) Richiesta(<Master_01>) Attesa(<Master_00>) Buffer_input(<Master_00>)
|Master_01|=2 |Master_00|=1 

T0>

R0(1) S3(1) Attesa(<Master_01>) Elabora(<Master_00>) Buffer_input(<Master_01>)
|Master_00|=1 |Master_01|=2 

T1>Reset_s T9> T2>

Reset_s

T1>

T4>

R0(1) S1_a(<Master_02>) S2_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_00>+<Master_02>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

Reset_r

S1_a(<Master_02>) R3(1) S2_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_02>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>

S1_a(<Master_02>) R3(1) S2_b(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

T4>

T7>

T4>T5>

R0(1) S1_a(<Master_02>) S1_b(<Master_02>) Attesa(<Master_00>+<Master_01>+<Master_02>) Buffer_input(<Master_01>) Buffer_output(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T1>

R0(1) S1_a(<Master_02>) S1_b(<Master_02>) Richiesta(<Master_01>) Attesa(<Master_02>) Elabora(<Master_00>)
|Master_00|=1 |Master_01|=1 |Master_02|=1 

T2>T4>T5> Reset_r

S1_a(<Master_01>) S1_b(<Master_01>) R3(1) Richiesta(<Master_00>) Attesa(<Master_01>)
|Master_01|=1 |Master_00|=2 

T0>

...

T1> T4>T5> Reset_rT2>

...

T8>

...

T1>

...

T2>

T0>
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...

T1>T3> T9> T2>

Reset_r

T3>

...
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...

T5>

...

T1>

...

T2>Reset_r

...

T0>

...

T5>
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...
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...

T6>

Reset_s
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T2>

...

T1>

T7>

T6> Reset_sT8>

...

T2> Reset_sT8> T1>

...

T0>

Reset_s

T9>

...

T1>Reset_s T9> T0>

T4>

...

T1>

...

T2>T4> Reset_r

...

T0>

...

T1> T4> Reset_rT2> T4>T5>

...

T9>
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T2>

T0>
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T1>

Symbolic Reachability Graph

OPEN GRAPH: Showing a subset of markings.

Total markings: 80 out of 232


